

Tender for Operations and maintenance

Information

RFx number: 7000022275 **Publication:** Public RFx

Version:

RFx Name: UPLIFTING OF CABLES AT 400KV WRR

Tender Subject: WORK OF UPLIFTING OF EXISTING VARIOUS CONTROL & POWER CABLES IN

CB, CT, CVT, ISOLATOR BOX, EARTH

Bid Submission: 24.02.2022

Funded By:

Tender Fee Inc. GST: 525.00 ₹

Estimated Cost: 2,000,000.00 ₹

Basis of Prices:

Percent Based Bid: Yes

EMD Cost: 20,000.00 ₹

Tech Bid Open: 24.02.2022 11:00:00 **Price Bid Open:** 24.02.2022 12:00:00

Contact Person: EE-8554993600 DYEE-8554993202

Additional Requested Information:

a)#Average Annual financial turnover during the last 03 years, ending 31st March of the previous financial year, should be at least 50 % of the estimated cost. Submit ONLY turnover certificate of C.A. (essential).

b)#Experience certificates of having done the "Uplifting of existing various control & power cables of switchgears in EHV Substation" amounting to 60% of the estimated cost in maximum 3 orders during last 05 years ending last day of as per Sr No (b) inTQR

c)#Proof of Goods & Service Tax Registration (GSTIN Registration).

d)#Copy of PAN card.

e)#Proof of Registration of Firm under Bombay shop & Establishment Act.

f)#Copy of SSI/NSIC Certificate with Memorandum (if applicable). The Registration Certificate as submitted by Micro and Small Enterprises should be VALID on the date of submission of bid and the validity of the same should be certified by the Chartered Ac

g)#Income Tax Returns of last any 03 years

h)#Undertaking of contractor as per Annexure G on agency letter head should be submitted.

i)#Valid insurance of Labour / ESIC if applicable.

j)#Valid Electrical License Certificate.

Attachments:

• TENDER DETAIL - E-TENDER

16.02.2022 14:55:49

Tender for Operations and maintenance



Information

RFx number: 7000022275

Version: 1

RFx Details:

(*Amount in ₹)

				(Amount in			
Item	Item category Product no.	HSN/SA C No.	Description	Qty	Unit Rate	Amount	
1	Outline	995478	WORK OF UPLIFTING OF CABLES AT 400KV WRR	1.000 AU		1443271.42	
1.AA	Service 50004137	995478	Collecting screening existing metal Collecting & screening existing metal with separate out dust etc. from metal and stacking the selected metal includes all leads & li fts etc. as directed for excavation of buried tensioned live control & power cable pipe. by Manual method (size 1.8 mtr width X 0.3 mtr depth X 1.0 mtr length)	976.320 m ³	132.08	128952.35	
1.AB	Service 50008575	995478	Excavation&Disposal of Excavate Material Excavation for opening & uplifting of buried tensioned live control & power cable pipe. (size 0.6 mtr width X 1.6 mtr depth X 1.0 m tr length) For BC Soil	883.200 m ³	361.12	318941.18	
1.AC	Service 50014564	995478	Pulling of Casing, Conduit & Cu Cable Pulling of buried tensioned live control & power cable pipe by Manual method with re-fixing the pipe with control & power cable in proper line level & position for releasing cable tension as directed Engineer In Charge.#	1,808.00 0 RMT	222.88	402967.04	
1.AD	Service 50000268	995478	Spreading of Graded Stone Metal Metal spreading after laying of pipe with cable & back filling of soil & cleaning of side by removing of waste balance material & it s disposal to outside switchyard area as directed by engineer incharge #(size – 1.8 mtr x0.3depthx1.0 length)	976.320 m ³	165.09	161180.67	
1.AE	Service 50017911	995428	P&L in situ CC M10 (1:3:6) M10 (1:3:6) concrete bedding for placing of pipes.	54.240 m³	6620.45	359093.21	

Tender for Operations and maintenance



Information

RFx number: 7000022275

Version: 1

Item	Item category Product no.	HSN/SA C No.	Description	Qty	Unit Rate	Amount
1.AF	Service 50011680	996912	Prov. Earthing to Eqpt. Structure Earthing of equipment / support structure with provided GI Flat with bending / fabrication welding etc. making it flush with support str. / equipment as directed with connecting the same with required size nut bolts (to be provided by the agency)	300.000 EA	232.40	69720.00
1.AG	Service 50004551	995461	Laying,Dress&Clamping 10/12Cx2.5mm ² Cable	1.000 RMT	29.80	29.80
1.AH	Service 50004552	995461	Laying,Dress&Clamping 4/5Cx10mm ² Cable	1.000 RMT	22.64	22.64
1.AJ	Service 50004553	996912	Laying,Dress&Clamping 2Cx2.5mm ² Cable	1.000 RMT	14.30	14.30
1.AK	Service 50013053	995461	Termination 19Cx2.5mm ² Cu Ctrl Cable	1.000 EA	526.78	526.78
1.AL	Service 50013056	995461	Termination 10Cx2.5mm ² Cu Ctrl Cable	1.000 EA	438.58	438.58
1.AM	Service 50013055	995461	Termination 7Cx2.5mm ² Cu Ctrl Cable	1.000 EA	338.47	338.47
1.AN	Service 50002107	995469	Termination 4Cx2.5mm ² LT Cu Ctrl Cable	1.000 EA	303.91	303.91
1.AP	Service 50014781	995469	Termination 2Cx2.5mm ² Cu Ar Ctrl Cable	1.000 EA	237.17	237.17
1.AQ	Service 50013947	995462	P&L 100mm Ø PVC pipe weep hole Providing and laying weep holes of 100mm diameter PVC pipe	1.000 RMT	505.32	505.32
2	Material 500003348	72123090	50X8 mm GI Earthing Strip Supply of GI flat 50*8 mm	1.000 RMT	72764.16	72764.16

(*Unit Rate mentioned is inclusive of all taxes)

Tender for Operations and maintenance



Information

RFx number: 7000022275

Version: 1

Annexure - I

(* NR is for Invalid Condition)

Item	Product No.	HSN/SAC	GST App. in %	Item type	Conditions*
1		995478	18	Е	
1.AA	50004137	995478	18	Е	EXW,
1.AB	50008575	995478	18	Е	EXW,
1.AC	50014564	995478	18	Е	EXW,
1.AD	50000268	995478	18	Е	EXW,
1.AE	50017911	995428	18	Е	EXW,
1.AF	50011680	996912	18	Е	EXW,
1.AG	50004551	995461	18	Е	EXW,
1.AH	50004552	995461	18	Е	EXW,
1.AJ	50004553	996912	18	Е	EXW,
1.AK	50013053	995461	18	Е	EXW,
1.AL	50013056	995461	18	Е	EXW,
1.AM	50013055	995461	18	Е	EXW,
1.AN	50002107	995469	18	Е	EXW,
1.AP	50014781	995469	18	Е	EXW,
1.AQ	50013947	995462	18	Е	EXW,
2	500003348	72123090	18	S	EXW,

(* PFQ -> Packing and Forwarding Per Quantity

FRQ-> Freight Per Quantity

FR%-> Freight in Percentage,

INP -> Insurance in Percentage, DISCQ-> Discount Per Quantity,

EXW ->Ex-Works (Basic Price), PFP-> Packing and Forwarding in Percentage, INQ-> Insurance Per Quantity,

DISCP->Discount in Percentage)